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1) For each of following, balance the reaction, and write it as a net ionic equation.

A) J AgNO3(aq) i / NaCl(aq) - / AgCl(S)+ / NaNO3(
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B) ' I—_IC:l(anq) £ 3 ‘ I<()I'_I(aq) = ' HZO(I) & ' I<le(alq)

H* + oW~ —> R0 .,

C) ’ NaHCO3(aq) i l I_I(:l(aq) 9 \ COZ(g)+ ( HZO(|)+ | NaCl(aq)

HCO; + HY — o > H)OU\)
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D) L ZnBrz(aq) + 2 AgNO3(aq) - l Zn(NOB)Z(aq) +i AgBr(S)
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F) & Na(s) -+ 2 HZO(,) —— 2—N80H+_1_H2(g)
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MnO,q + HCl.y — Clyg) + H,0 + MnClyag)

H) _| FeCly,, +e2 NaOH,, — [ Fe(OH),, + &2 NaCl,,

R+ 20n” — Fdow),

1) 1 Cug) + 2 AgNOj34q —’_J_CU(NO3)2<aq) T ;Q‘Ag(s)

l CV‘U) + 2L pc:; —> \ Cu? 2 AA:S“)



